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o0l [ T FH H H 506 543 650 1,193
002 | #& PN i) 672 761 800 1,561
03| F &F M fr 350 330 306 636
004 | & 5 i3] 961 1,137 1,050 2,187
005 | X i3 i) 719 826 860 1,686
006 | £ & F M 1,364 1,638 1,525 3,163
007 | #& e i3] 168 246 191 437
008 | 5 it i3] 805 919 928 1,847
009 | K & i) 552 708 692 1,400
010 | & H i3] 1,121 1,420 1,505 2,925
011 * B OF M 690 829 850 1,679
012 | o # i)} 888 1,092 1,271 2,363
013 5h H i) 557 715 806 1,521
014 | & & i)} 866 1,042 1,067 2,109
015 | Bx AT 113 133 157 290
061 XRHE —TH 31 30 21 51
062 | X RE_-TH 220 205 202 407
063 | X ZET=TH 3 30 54 84
064 | X ZET MW TH 96 104 116 220
071 AHEABT—TH 38 27 45 72
072 | £BHAEB-TH 253 251 222 473
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081 | M BT — T B 0 0 0 0
082 | ®m BT = T B 32 757 68 825
083 | M BT = T B 164 163 183 346
091 fili 5 B — T B 73 77 94 171
092 | s BT = T B 65 231 379 610
101 HAE—TH 103 103 102 205
111 LtEHE—TH 121 140 123 263
112 LTEHE_TH 83 70 61 131
113 | FEHAE=TH 108 100 121 221
114 | FEHEEAEMTH 154 141 162 303
115 | FEHAEATH 140 105 154 259
116 | FEHEHAEATH 147 124 132 256
117 | FEHAEETH 132 150 163 313
118 | FEMHEE/NTH 140 157 138 295
121 EEFH—TH 76 62 74 136
122 | EFEFEH_TH 52 67 62 129
123 | EFEFE=TH 75 69 86 155
124 | EFEFEMTH 73 69 51 120
1256 | EFEFHATH 90 99 97 196
126 | EEFHEATH 159 134 131 265
127 | EZ@EFHETH 143 95 154 249
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